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- elasticity of supply is infinite. = i change in the amount bought and sold,

-~ . For small shifts in the demiand urve, the fess elastw o 4. Economists also study elasticities of a product’s
- the supply curve at the equilibrium price, the larger the  ~demand or supply with réspect to other factors, such

~. price change and the smaller the change in the amount  ~~ © ~-income (for demand}; the prices of other products (f
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ADDITIONAL EXERCISES

swer many questions in economics and business, we need to measure the relation-
: anbctwem the amount demanded and/or supplied and various factors, including the
' !fjsuct's price. We’ve already seen that we need to know the demand and supply func-
ons to predict market prices. Later in this book, we’ll see that this same knowle(;g}(:n 1S
_eful for such diverse purposes as evaluating the effects of a tax and determining akn s
fit-maximizing price. The process of learning about demand and/or supply 18 ovlvln
s demand and/or supply function estimation. For the sake of simplicity, and because the
5 are very similar, we 11 focus here primarily on the estimation of demand functions.
How can we determine the demand function for a product? There are various
snroaches to this problem. One is to ask buyers about their willingness to buy the product
at different prices. Marketing specialists have developed survey methods for this purpose.

] orcormn. - consumers lhal there mlghl be hcallh nsks

f ~in formula( 1). Graph the correspondmg demand curve when - beef? . ae

o potatoes and butter cost $0.75 and $4 per pound, respectively, %‘” E!ertlu 2 7: Suppose that the U S demand for rnaplc
. and average inceme is $40 000 per year. At what price does . i mousands of gallons per year, is Qd = 6000.~ 30P. Wh
R the amount demanded equal 15 billion busheis per year? Shnw‘ t};e e]asnc;ty of demand at a price of $75 per gallon’

. your. answer usmg algebra. - , : - Exercise 2.8' Consider agam exerclse 2.7, At what pnce
- “Exercise 2.2: Consider agam the supply function forcorn . . expendllute on maple syrup by U.S. consumers highest?
S .in furmula 2). Gruph the correspondmg supply curve when: ;
< diesél fuel costs $2.75. per galion and the price of soybuns is

$10 50e s hel %5 . docs th : ied eduai - { in Cmcmnati is linear. Twa vears ago, the price of jelly be :
. ushei. At what pric e amount suppli ual ; ngs.
i 21 brlfmn bushels per year‘p ) Shew ’yaur answer us?:galg:gra o i, and consumets purchiscd. 100,000 Jut while surveys can provide useful information, they suffer from some $ e

‘ ‘ k of_;eiiy beans. Last-year the price was $2, and consmm' have difficulty providing accurate responses about what they would do in
Exercise 2. '!' What i the ulllbnum rice for l:he dcmand, E hased 50,000 C 0 onsumnfrs Py b : : ] i i , the
-, and supply condltlons dcsc;qbcd in exerznsca 21 and2. » Haw ; rt::';( affecst o dfr::nﬁjs&?f ;;}Hg;::;scg:n gehef \;flm “hwpothetical _\;:;uatloni.sﬁgl(llss;t: I;cl:ﬁgu\;fﬁil—bemg doesn’t depend on their answers, they
p P N OR Py 0 ¥ ; ot g[\fc CSC qll A i
ﬁ:ﬁﬁgﬁ;ﬁ:ﬁ;ﬁ; éﬁﬁ:@nﬁiﬁ fazv: ;::nm Gn. en these problems, economists usually take a different approach: they try to learn

o sumers’ actual behavior.
- Exercise 2.10: Consider again the demand and supp!y _ about demand by studying con

= functions in in-text exercise 2.2 (page 33) Atthe equilibr
' price, what are the eiastzcmes of demand and supply"

. Exercise 2.9: Supposc the'demand function for jelly beas

The “Ideal E:periment”

Suppose we're interested in estimating the weekly demand function for hot dogs in Evans-
2on. Minois. To start, we’ll assume for 51mphclty that this demand depends only on dthe
rice of a hot dog. Suppose the demand function is linear, so that it takes the form Q¢ =
4 BP. We don't know the values of 4 (the intercept term) and B (which determines how

~ Exercise 2.11: Last September, the price of gasoline in
o hananooga was$2 a gaiion, and consumers bought | mi
- gallons. Suppose the elasticity of demand in September
-ata price of $2 was —0.5, and that the demand ﬁmcum}

E ‘kfn th:rd-world famine relief pmgrmn' What eﬂ‘ecl will the
. purchasc havc on lhe equlhbnum pri e of com ' qu Wiii it

g Exercise 2.5:, fAﬁC‘I’ tcrro S1s deslroyed‘the World Tradc o for gasg}me that m()nﬂ} was linear. What was thal demant h

\ ~ ! anges

:;*Ccntcr and 51-1”01“1‘11“8 office bUlldIHBS on September ~ function? At what price doés consumers” total expendit o e the amount demanded Changis wher; the t};rlcli: Cboutgan)1dea1 expotiment, in which
~ 11,2001, some businesspeople worried about the risks of ~ gasoling reach its largest level? R Hiw can we learn these values? First lets think a

W% present consumers with different prices in different weeks and observe their demand.

e 219 shows the amounts demanded at two different prices, P = $1 and P = $2,
ek dots. We can find the demand curve, labeled D, by drawing a line through these
~dots, as 1 the figure. The value A is the quantity at which this line hits the horizontal
A “(Wnd:ng to the amount demanded when hot dogs are free). The demand curve
Wi the vertical axis at o height equal to 4/B. So the value of B equals the horizontal
imtercept of the demand curve divided by the vertical intercept. [This is also equal to
~ {hdemand curve slope)].

! - Ifthe demand function isn’t linear, we would usually need to observe the demand at

+ femaining in Manhattan. What effect would you expect their

_- concern to have in the short run {beforc any of the dcstmycd

. office ‘buildings are rebuilt) on the 1 orice of office space in -
. Manhattan? What factors does your answer dépend on? What
~ -~ about the effect over the long run?- Supposc the area around - :
,  gallon). What is the elasticity of demand of the: Acoulli
‘the former WorldTrade Center is madé into a park, sothat respect to the price of a Camry when both cars sell for 81

; ;the destroyed office ‘buildings are never rebuilt. Econonucally,‘ . and foel costs $3 per gallon? What i is the elamcny with
~who would gain and who would fose from :.uch a plan’ to the price of gasohne‘? :

“Exerclse 2.6: If thc 8] S; government were o ban unpﬂrts " Exereise 2.13: The demand fora d =4 =4
) L AR pmductls A
~ of Canadian beef for reasons unrelated to healih concerns, - where Pis its price and 4 and B are positive :?umbeﬂ- ; ~more than two prices to trace out the demand curve. And if observable factors other than
2oy ~what would be the effect . Lhe PF’°? be%f 5! ‘he; Unued o ‘that when the price is 51 the amount demanded is 60 F&'lﬁul demand, such as the season (summer versus nonsummer), we would need
: - elastlcny of demand is — 1. What are the vaiucs of Aaf Y U Similar experiment in each season.

fﬁxerclse 2.12: Suppese the annual demand funcuou i
" Honda Accord is Q7 = 430 ~ 10P, + 10P, — 107, whe
- B, and P, are the prices of the Accord and the Toyota Caf
‘ frespectzvcly {in thousands), and P, is the price of gasolis




